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B | K4 OUT IN [#ozx HDCP Hw k|| B |K4 OUT IN |#oX HDCP #wk

11 | BR & 35 34 69 0.0 69.0 51 fi | & EX 47 51 98 0.0 98.0
2 i | R &F | 34 35 69 0.0 69. 52 {i |=iR)Il b | 49 50 99 0.0 99.0
3 fi | e BEX 35 36 71 0.0 71, 53 iz |BEE HMA 55 46 | 101 0.0 101.0f

4 {5|kH BH 37 35 12 0.0 72 54 i | K HERC 53 48 | 101 0.0 101.0
5 {1 |#iR HA 36 36 12 0.0 72 55 fi | &HF EX 51 50 | 101 0.0 101.0
6 ff | HER #Z% 3% 37 12 0.0 72 56 fi | Bt [EX 50 54 | 104 0.0 104.0
74 (IUE HiE 38 35 13 0.0 73 57 fi | BRIR  #8— 57 48 | 105 0.0 105.0
8 fi (&AM fm&k | 37 36 13 0.0 73 58 i | FEH Eth 54 51 | 105 0.0 105.0
9 fif | KFE —X 36 37 73 0.0 59 fiI |tk XK— 55 51 | 106 0.0 106.0
10 { | =4t EAER | 40 35 75 0.0 60 | &% = 55 51 | 106 0.0 106.0

61 fif | IuA B 55 53 | 108 0.0 108.0
62 i | BfE W% 54 55 | 109 0.0 109.0
63 i |FK G 59 51 | 110 0.0 110.0
64 4 | Kh ERFE 56 55 | 110 0.0 110.0
65 fi | #tE EEF 54 56 | 110 0.0 110.0

11 62 | #IE sk 38 37 75 0.0
12 1 |[FE R 40 36 76 0.0
13 fu |tk RSB 38 38 76 0.0
14 i |FFiE BE&E 38 38 76 0.0
15 i | HE #&— 38 38 16 0.0
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16 fi |{£EfE (& 38 39 17 0.0 77. 66 i | A FR 56 55 | 111 0.0 111.0
17 62 | HF% AR | 39 39 18 0.0 78 67 I | Bk Z|2 59 63 | 112 0.0 112.0
18 fi |RE E# 42 31 79 0.0 79 68 i | EH ME 54 59 | 113 0.0 113.0
19 f1 | £H #®’ 42 31 79 0.0 79. 69 4 |[RE #RE 61 53 | 114 0.0 1140
20 fi |SF& IniE 40 39 19 0.0 78 70 fi | B R 67 48 | 115 0.0 115.0
2 1 | E 39 40 19 0.0 79. N FEF RE 58 59 | 117 0.0 117.0
22 i | RE W 38 4 19 0.0 79. 72 6 | seig B 55 62 | 117 0.0 117.0
23 fi1 | K FE 43 37 80 0.0  80. 73 fi | RE KH] 54 64 | 118 0.0 118.0
24 61 | BB FHE 43 37 80 0.0  80. 4| EE BE 68 53 | 121 0.0 121.0
25 i | BE 39 4 80 0.0 80 75 61| 5B EH 66 56 | 122 0.0 122.0

76 i | )il fEXBA | 59 66 | 125 0.0 125.0
17 % | BB & 63 63 | 126 0.0 126.0
78 i | =48 fEKRER | 61 65 | 126 0.0 126.0
79 o | fElE ¥ 69 58 | 127 0.0 127.0
80 fif |5kl =& 67 63 | 130 0.0 130.0
81 fif | #IR KigE 67 64 | 131 0.0 131.0
82 fif | Eig =ik 69 69 | 138 0.0 138.0
83 i |HH EF 66 81 | 147 0.0 147.0
84 fir | EER ¥ | 84 72 | 156 0.0 156.0
85 f | &k TH 115 153 | 268 0.0 268.0

26 i | BE[R RiE 42 39 81 0.0
21 41 | BA 44 38 82 0.0
28 14 | R¥ EHF 44 38 82 0.0
29 i | HERK BE 40 42 82 0.0
30 fif | FiF {EIT 38 44 82 0.0
3N | A &E 38 44 82 0.0
32 fir KB BX 42 4 83 0.0
33 6L MEA KFH | 4 40 84 0.0
34 1 [ {EBE AKX 46 39 85 0.0
35 fi [iEK 3CHR 40 45 85 0.0
36 f |thE FIT 4 42 86 0.0
3 L | EFE A 43 43 86 0.0
38 fi |HE ERER 49 42 91 0.0
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I EIER K 45 46 91 0.0

40 {3 |#ENI FOIA 48 45 93 0.0

N\ SH 58 49 45 94 0.0 94
42 5 | BB RiE 48 46 94 0.0 94
43 G | )1 B 47 4 94 0.0 94
44 1 | BE FH 42 52 94 0.0 94
45 fiI | #  fm#ERth 50 45 95 0.0 9
46 f |G FE 48 47 95 0.0 95
47 61 | KfHE R 45 50 95 0.0 95
48 I |HF BEX 51 46 97 0.0 97
49 i1 |l #RK 46 51 97 0.0 97
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50 {3 | IUE Kt 41 51 98 0.0




